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  
()

MECHANICAL ENGINEERING 
(Theory)  

 

   :  3     : 60 
Time allowed : 3 hours   Maximum Marks : 60 
 

 : (i)        
 (ii)       
 

Instructions :  (i) Attempt any five questions. 
   (ii) All questions carry equal marks. 

 Series : SGN/C  106

SET – 4 

H$moS> Z§. 
Code No.  

   -  - 
    
Candidates must write the Code on 
the title page of the answer-book. 

       -    3   

 -            -  -    

       -  8    

         ,       

  -     15        -     10.15  
   10.15   10.30     -         
-       

 Please check that this question paper contains 3 printed pages. 
 Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 

 Please check that this question paper contains 8 questions. 

 Please write down the Serial Number of the question before attempting it. 
 15 minute time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 
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1. () ..      4 

 ()     ?        8 

 (a) Give the classification of I. C. Engines. 
 (b) What is Bulldozer ? Describe the working of Bulldozer. 
 
2. ()          8 

 ()      4 

 (a) Write about working of reciprocating air compressor. 
 (b) Give the classification of Turbines. 
 
3. () ‘. ’       8 

 ()          ?   -    4 

 (a) Explain the working of D’Lavel Turbine. 
 (b) What do you mean by Boiler Mountings and Accessories ? Write the two names 

of each. 
 
4. ()          ?       4 

 ()           8 

 (a) What do you mean by Belt and Rope drive ? Discuss their importance. 
 (b) Describe the working of a crane. Write its uses. 
 
5. ()            4 

 ()            8 

 (a) Describe the working of two stroke Petrol Engine. 
 (b) Explain the working of Babcock and Wilcox boiler with neat sketch. 
 
6. ()         4 

 () ..             8 

 (a) Explain Simple Gear Train with neat sketch. 
 (b) By Drawing a neat line diagram of an I. C. Engine, indicate the main parts. 
 
7. ()        8 

 ()        4 

 (a) Explain working of Economiser with sketch. 
 (b) Explain the different parts of a clutch. 
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8.       : 2  6 = 12 

 ()    

 ()      
 ()    

 ()       
 ()     

 ()    

 Answer the following in short : 
 (a) Uses of clutch. 
 (b) Compression Ratio of a Petrol Engine. 
 (c) Uses of Turbines. 
 (d) Use of fusible plug in boiler. 
 (e) Industrial application of compressor. 
 (f) Uses of Shovel. 

_________ 
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